Exercise 3.89:
[image: ]
a) True, by definition.  b) False   c) True.    d) True.     e) True.     f) True.     g) False. 

Exercise 3.92:
[image: ]
[image: ]
a)  True.  b)   True    c)  True.    d)  True. By definition.
e)  False	f) False 	             g) False

Exercise 3.95, 3.96:
[image: ]


a.  P(W  BI) =  .08	b.  No	   c)  P(BI|W)  = .267	d)  P() = .58



Exercise 3.99:
[image: ]
a. P(VS) =  .125
b. P(S|V) =  .3571
c. P( )  = .875
d. No, since P(VS) which is .125  .175 which is P(V)P(S)
e. No, their intersection is not zero, hence the two events cannot be mutually exclusive.  P(VS) = .125  0 
f. No, the probability of their union does not equal 1.  P(VS) = P(V) + P(S) – P(V  S) = .35 + .5 - .125 = .725 which is less than 1.

Exercise 3.108:
[image: ]


P(S|P) = P(SP)/P(P)    =     P(P|S)P(S)/[P(P|S)P(S) + P(P|)P()] 
= (.7)(.4)/[(.7)(.4) + (.5)(.6)]    = .4828




Exercise 3.114:
[image: ]
   a)  P(P)=P(P|HS)P(HS) + P(P|C)P(C) + P(P|O)P(O)=(.2)(.3)+(.6)(.5) + 	(.8)(.2)=.52

b)  P(|P) = P((CO) P)/P(P) = [P(CP) + P(PO)]/P(P) = (.3 + .16)/.52 = .46/.52 = .8846

The prob that the customer who made a purchase is HS age is    1- P(|P)

Exercise 3.118:
[image: ]
Let G1 – Sales will grow, G2 – Sales will not grow.  Let N1 – new operating system, N2 – no new operating system.  P(G1) = 0.70, P(G2) = 0.30 and P(N1|G1) = .30, P(N1|G2) = .10, P(N2|G1) = .70, P(N2|G2) = .90
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